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QUESTION 1

A DLP administrator is preparing to install Symantec DLP and has been asked to use an Oracle database provided by
the Database Administration team. Which SQL *Plus command should the administrator utilize to determine if the
database is using a supported version of Oracle? 

A. select database version from ; 

B. select * from db$version; 

C. select * from v$version; 

D. select db$ver from ; 

Correct Answer: C 

Reference: https://www.symantec.com/connect/forums/new-install-oracle-returns-error 

 

QUESTION 2

An organization wants to restrict employees to copy files only a specific set of USB thumb drives owned by the
organization. Which detection method should the organization use to meet this requirement? 

A. Exact Data Matching (EDM) 

B. Indexed Document Matching (IDM) 

C. Described Content Matching (DCM) 

D. Vector Machine Learning (VML) 

Correct Answer: D 

 

QUESTION 3

How do Cloud Detection Service and the Enforce server communicate with each other? 

A. Enforce initiates communication with Cloud Detection Service, which is expecting connections on port 8100. 

B. Cloud Detection Service initiates communication with Enforce, which is expecting connections on port 443. 

C. Cloud Detection Service initiates communication with Enforce, which is expecting connections on port 1443. 

D. Enforce initiates communication with Cloud Detection Service, which is expecting connections on port 443. 

Correct Answer: D 

 

QUESTION 4
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Which two detection servers are available as virtual appliances? (Choose two.) 

A. Network Monitor 

B. Network Prevent for Web 

C. Network Discover 

D. Network Prevent for Email 

E. Optical Character Recognition (OCR) 

Correct Answer: BD 

Reference: https://help.symantec.com/cs/dlp15.0/DLP/v123002905_v120691346/About-DLP-
Appliances?locale=EN_US 

 

QUESTION 5

What should an incident responder select in the Enforce management console to remediate multiple incidents
simultaneously? 

A. Smart Response on the Incident page 

B. Automated Response on the Incident Snapshot page 

C. Smart Response on an Incident List report 

D. Automated Response on an Incident List report 

Correct Answer: B 
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